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Topic:- Child Development & Pedagogy (CDP)

1) Albert Bandura was a proponent of which perspective of personalities? / 3eac EIT;RT Hfdaed
¥ fora ultven & ywara® A2

1. Humanistic/ #ATIaarey

2. Behaviorist / sTdgRarer
3. Psychoanalytic / HITI2eoT

4. Social cognitive / HTHATSS HATdTcHD

Correct Answer :-

« Social cognitive / HTHISIS HaATATcHER

2) The differences observed among different human groups are typically ./
faffieer e @oEl & v 3@ 9 A AR A g Bl

1. genetic / 3ﬂ?:|DEITfQ\IT=I~T (Steifeah)
2. cultural / '\‘:l'lﬁ_?ﬁﬁ?

3. artificial / A

4. heredity / T (813

Correct Answer :-

« cultural / F@m

3) Success of Inclusive Education depends most importantly on: / ¥aTaeft fam $ir Twerar
e Agcaqol ¥ ¥ 30 W s el @

1. High quality textbooks / 3T I[UTaAT T ITSTIEAH
o] ]

2. High quality teaching learning materials / 3= J[0TaT <l RI&T0T 3feraTe AT

3. Community Support / HTHeTR—e% FHI



4. Additional change among teachers / f21&Tent & g AfaRed Seara

Correct Answer :-

« Additional change among teachers / fraTeri & &g 3rfaRed scoma

4) Kohlberg and his associate postulate stages in moral development
divided into three major levels. /

FIEAT 3T ITd AN FT AT ¢ o Afas Qe & ATEATHT HY
ot s ¥t F fenfore R 21

1. Two /@l

2.Six / B8
3. Nine / @t

4. Four /dX

Correct Answer :-

5) Development never stops. This statement emphasizes the principle of: /
T 3t A€ TFan a7 FyT e Rgyid W AR & &

1. Integration / TehIhiOT

2. Individual differences / STTFIINT ATHG

3. Uniform pattern / TehgaT deaT

4. Continuity / IBRGEGI

Correct Answer :-

o Continuity / IBEGRGI|

6) Learning to drive a car, singing or memorizing a poem or mathematical table etc need exercise
and repetition of various actions and movements many times. These cases of human learning which
involve the connections in the brain being strengthened or weakened are part of which law of
learning by Thorndike? /

FR, TN dr@ar a1 sfaar a1 afordy afaer snfe #F a1 @a § [T 7§ I/ 3w 3k R
Ft TUT FAT & qAGTa A HEGRIFAT gt 81 AT HIH F g7 Al A, ARTF A waw
ASGd a1 FAGR BT 8, TE A6EES & e &1 wia-ar s 32



1. Law of exercise / 373amq &7 fa=uer
2. Law of effect / 98T &7 @&
3. Law of readiness / dc@dr & f@a#

4. Law of Attitude / 3-Tf3\-1'q;% EORGEE:

Correct Answer :-

o Law of exercise / 37#ard T g

7) The function of Educational guidance is: / e AR #T FF %‘:

1. getting the best out of education/ TI&T T qafdaad areT S|

2. understanding the philosophy of great educators/ HgleT TI&ThT & g P FHSTEATI
3. giving occupational information/ SATAHT A SATThRT ol |

4. inculcating social interaction among the students/ BTEl & &g Ao Helollel SgleT|

Correct Answer :-

« getting the best out of education/ fY&T T Hafda 8T STl

8) The best method to study diversity among pupils is through method /
gt & & Rfvvar # sregas F @ F1 799 3reor alwr fafer 3

1. Introspection / 3frcAfAdeTor
2. Experimental / TAeTcHS
3. Observation / 3Tdcliehel

4. Case study / g Tear

Correct Answer :-

« Observation / 3/deliehel

9) Cephalocaudal means: / Q%dlhsd FT 7T §:
1. Headtotoe / RX ¥ |

2. Whole to part / qoT & 3711

3. General to specific / AT & fafrse

4. Center to periphery / %eg & IR

Correct Answer :-



e Headtotoe / T & X

10) Whose theory focuses on the culture in which a child grows up in? /

frasr Rguia sepfa w Sia Far ¢ e v a=an 31 @ 22
1. Fromm / W&

2. Freud / WIg8

3. Vygotsky / aTSaNcHT

4. Kohlberg / SigeladT

Correct Answer :-

« Vygotsky / aTSalcaehr

11) A child learns to stand up only when a teacher enters the room and not when a student or any
other adult does. What principle of learning explains this behavior? /

T goaT had I3 TsT T § o9 &7 A #H 93T a1 § o & 9 FI$ o a1 FS
I TIAEH AU FAT g1 ATH T FlT 61 RUia 390 YqeR T SATEAT T 82

1. Stimulus discrimination / 3¢gr9eh TaAEIHTOT
2. Stimulus generalization / 38&I9eh HTHTAHIOT
3. Stimulus response / 3egIdeh 3ieffshar

4, Stimulus observation / PE@W geqoT

Correct Answer :-

« Stimulus discrimination / 3¢gI9e [dAEIHIOT

12) What would an intelligence test that deals with experiences common to all cultures be called? /
U e qdeTor FT g ot Wit wEfadl F WA InepdEl @ wefta §?

1. Culture forward test / Wﬁf 31faA odegor

2. Culture biased test / Fﬂajﬁf g&TqTelr gIeToT

3. Culture free test / HQ-_G‘}_?% HAFd gr&ToT

4. Culture fair test / TEPI TASTeT qlraior

Correct Answer :-

o Culture fair test / FREE% fasger greTor



What types of questions assess knowledge of general information in an intelligence test? /
T e TOETT H FHT AARR F AT F Hedisded FH IHR & 90T A §2

1. Comprehension / 9

2. Information / e

3. Similarities / FATT

4, Proverbs / shgldd

Correct Answer :-

o Information / eIt

14) What is most true mental health problems? / ¥a% JFdRAF HAATAS TARLT THTIT FAT §?

1. Mental health problems means unable to do work./ ATTHH TATELT THATATAHT FT AT HH e
F; 3raAdar ¥ gl

2. Mental health problems means unable to recognize people and things around. / HATATHS TATELT
FAEATHT &1 3 §, el 3R 3 el 1 T8 ggarta|

3. Mental health problems can affect the way we think, feel and behave./ AT TATELT AT,

gAR WIel, AGH el 3N TagR el & i &l gnfad X dahct &

4. Mental health problems can affect the way we respond./ AT TATELY ATAT §AR SATS col
& dl F gfad FT Thal &l

Correct Answer :-

» Mental health problems can affect the way we think, feel and behave./ ATAAS TAELT AT,
gAN Ao, AgHH el 3N TR el & dleh dH FHTTIT T Fehell &

15) What type of intelligence is likely to be used during a game of cricket? /
e & @ & ke, P gFR A qeftwar & gl frw S@ A gerEer 87
1. Bodily-kinesthetic intelligence / emiRer-arfaaadr gajﬁw

2. Naturalistic intelligence / Ear#Tfaes gaﬁlm

3. Musical intelligence / Hfid Haeh geframr

4. Linguistic intelligence / 19T Heell geferar

Correct Answer :-

« Bodily-kinesthetic intelligence / MRYReR-aTfcrEaer gefemar

16) Apart from formative assessment, another type of assessment that provides insight about the
sufficiency of instructional materials is: / TdellcHA® IThelol & AT, Th e YR FT dThoed



N Prencas aAAET i wAicaar F X F A yereT Far &

1. Diagnostic Assessment / IGEGIRCRICRG
2. Interim Assessment / TR 3TTeholel
3. Summative Assessment / TRMTcHS 3Teholel

4, Entrance Assessment / I 3Teholed

Correct Answer :-

o Interim Assessment / 37dR#A 3Teholel

17) Zone of proximal development refers to: / GHIGET 1 FT AT Weid FI4a1 &

1. What learners have not yet developed / Rremff 7 onft 9% w1 fawfRa el fobar %’?

2. What learners can do with or without help / ﬁ[&ﬂ?ﬁw & TIY I I9P o1 1 HR b %'?
3. What learners are able to do proximally? / Rremff gfuf®y oo &3 7 gem %?

4. What learners are able to do distally / fQ[&HEﬁW T HA A H&H %"?

Correct Answer :-

« What learners can do with or without help / fQI&ﬂ?ﬁﬂETCI?lT & TIY T I o1 T B Ihel %?
18) Pedagogy is the study of . | TRyamemEy T I B

1. Learning process / 3if&ere gfshar

2. Teaching method / fRr&for fafer

3. Guiding students / BTl I NS T

4, Education / et

Correct Answer :-

o Learning process / 3if&ere gfshar

19) Harry loves solving puzzles everyday as he finds solving puzzles fun and exciting. This is an

example for motivation./%‘ﬂﬂﬂFﬁﬂ'mﬁ'ﬁma@m%mﬁ
qgell A G IeeEF AR VATEE T 71 TE YROTT FT TS 3G &

1. intrinsic / 3-1?3-1?[

2. extrinsic / STed

3. fear-based / HI-3TUTRA

4. power-based / Wfad-3nuTid



Correct Answer :-
¢ intrinsic / 3-1?3-1?!'

20) Who argues that the mediation of someone more knowledgeable is vital in learning? /
FlT aF a1 ¢ & Rl A wereyan, st gl sfteme & mgaget @2

1. Piaget / TOTSY

2. Erikson / 3R&deT

3. Freud / %1IS
4. Vygotsky / aTgaiicaehl

Correct Answer :-

« Vygotsky / aT8aicaehr

21) Who proposed the idea of fluid and crystallised intelligence? / d%eT 3iX 3/ gaﬁmm F AR
FT y¥aiad fFas @

1. Cattell / Shcel

2. Gardner / TMSeRR
3. Sternberg / ¥TTASdT
4. Guilford / FRrewiE

Correct Answer :-

o Cattell / heel

22) Adolescence means: / fReiRa®dT &1 31 § :
1. To do work / TH T

2. To grow / SgaIT

3. To play / WelaT

4. To study / 37€ITeT hIAT

Correct Answer :-

o To grow / dgdl

23) Symposium is a type of / TS (RAFNTHIHA) v YR gl



1. Demonstration method / 92T fafer
2. Lecture method / ST fafer

3. Discussion method / faat-fasret fafer
4. Discovery method / @IaT fafer

Correct Answer :-

¢ Discussion method / aR-faAer fafer

24) According to Vygotsky, the major emphasis for cognitive development is: /
AFINCHRT F HAR, TAAcHS FFa & v yga ok @

1. education / forem

2. religion / ey

3. intelligence quotient / m
4. social factors / ATATTS GRS

Correct Answer :-

« social factors / TS TR

25) The aim of scientific investigation is to provide students opportunities: / aﬁm ST &1
I BHEI P 4 TR UeH HAT &:

1. cognitive processes only / dhael FallellcHe IThATHT

2. to use concepts only / hdel JTURUMAT T IUAT FA & [T

3. skills to solve problems only / shdel HHAEIATI A gl Hel o foIT Hierel
4. all of the above / 3GNFd THY

Correct Answer :-

o all of the above / 3R THT

26) Beliefs about fundamental categories and properties of world are
3P 9 e AR o Ui & i ¥ A, 2

1. Epistemic beliefs / 3{eIsTa#]erer favara

2. Epistemological beliefs / AAAARNT faeara

3. Ontological beliefs/ HdTH I faeara

4. Axiological beliefs / HeT AT faeard



Correct Answer :-
* Ontological beliefs/ HcTHeleh faeara

27) A child suffering from dysgraphia has: / f&&nftear ﬁlﬂ'%?r = F A g 8
1. Language difficulties / HTT H ao‘%—«n's‘

2. Low mathematical abilities / &} TIOTHT &
3. Reading difficulties / IgsT & HisATS
4. Writing difficulties / foraa o wfg=ms

Correct Answer :-

» Writing difficulties ALECER: KAtRIE

28) Learning by Project Method is technically known as: / TSI (tlﬁ'!ﬂTrF-lT) fafdr gry Srferme
TAP-D! U A Hgard ¢:

1. Adequate Iearning/q?JI‘I'ch 3T

2. Efficient learning / THTAT 37T8I9Te

3. Incidental learning / 9TE T3 378
4. Systematic learning / SIaT&Ad 371891

Correct Answer :-

+ Incidental learning / T3 37T

29) With respect to Principles of Child development which of the following is false? /

fFrrafafad 7 ¥ $19 9ra e & Rigidl & J69y & 3/ 22

1. Development depends on maturation and learning / f[d&, gRYeFadr 3R 319 ) TR
AT gl

2. Development proceeds from specific to general /ﬁih‘m, Tafrsear & GrE=Iar 1 3 dedr
gl

3. Development proceeds from simple to complex / faerar, aerar & SAfeerdn @f&ﬂ?ﬁ@?ﬂ%l

4. Development proceeds from top to bottom / fderT®, 3T T A= HT 3 dear |

Correct Answer :-

« Development proceeds from specific to general / fdar®, fafRrsedr & @#aIdr i 3R dear
gl



30) Typically, children create gender stereotypes by ./ SMHAR W, T
fer Thfatersy s14 21

1. not socializing due to gender-specific activities / fefr-fafary nfafafeal & SR THESTER 98] 1 TR

2. focusing on the negative attributes of the opposite gender / foia i1 & TeRES ’:[Uﬁ R & diad
HhY

3. maintaining gender-neutral friendships with children of both sexes / GIHI faiTl & d=al & a1y feiT-Feger
G §TE TGHR

4. sexualizing peers of both genders / o foi o Tnfa | DDAl d[hR

Correct Answer :-

« focusing on the negative attributes of the opposite gender / TATRId feffT & AHRIAD O IR &
Digd PR

Topic:- General English(L1GE)

1) Read the following passage carefully and answer the question that follows:

Most of the conflicts in life arise from the belief that one is always right, and this strong belief is
rooted in opinions which may not always be true. What is the value of an opinion? From
Sanskrit comes a saying that one should never accept or reject an idea merely because it is
ancient or traditional nor accept or reject something merely because it is new. One should think
for oneself. Is your opinion (of something or someone) a position of yours or that of an
influential and powerful personality? Does your opinion define you? Most discussions will have
someone saying “Well this is my opinion and I am entitled to it.” Yes, indeed one is entitled, but
what is worth remembering is that an opinion is not always a fact. Nor should your rights and
opinions impinge on someone else’s freedom. From diets to politics, from religion to money
matters and ways of raising children, there are as many opinions as there are people.

What is the passage about?

1. Definition of opinion
2. Strong opinion

3. Traditional opinion
4. Powerful personality

Correct Answer :-

» Definition of opinion

2) Read the following passage carefully and answer the question that follows:



Most of the conflicts in life arise from the belief that one is always right, and this strong belief is
rooted in opinions which may not always be true. What is the value of an opinion? From
Sanskrit comes a saying that one should never accept or reject an idea merely because it is
ancient or traditional nor accept or reject something merely because it is new. One should think
for oneself. Is your opinion (of something or someone) a position of yours or that of an
influential and powerful personality? Does your opinion define you? Most discussions will have
someone saying “"Well this is my opinion and I am entitled to it.” Yes, indeed one is entitled, but
what is worth remembering is that an opinion is not always a fact. Nor should your rights and
opinions impinge on someone else’s freedom. From diets to politics, from religion to money
matters and ways of raising children, there are as many opinions as there are people.

What is the reason given usually for rejecting an idea?
1. That it is wrong

2. That it is either traditional or new

3. That it is not to your liking

4. That it is not acceptable to society

Correct Answer :-

e Thatitis either traditional or new

3) Read the following passage carefully and answer the question that follows:

Most of the conflicts in life arise from the belief that one is always right, and this strong belief is
rooted in opinions which may not always be true. What is the value of an opinion? From
Sanskrit comes a saying that one should never accept or reject an idea merely because it is
ancient or traditional nor accept or reject something merely because it is new. One should think
for oneself. Is your opinion (of something or someone) a position of yours or that of an
influential and powerful personality? Does your opinion define you? Most discussions will have
someone saying “Well this is my opinion and I am entitled to it.” Yes, indeed one is entitled, but
what is worth remembering is that an opinion is not always a fact. Nor should your rights and
opinions impinge on someone else’s freedom. From diets to politics, from religion to money
matters and ways of raising children, there are as many opinions as there are people.

Why is your opinion not a violation of the freedom of someone else?

1. Because it doesn’t take away freedom
2. Because no one can take away freedom

3. Because freedom is different



4, Because freedom is hard earned

Correct Answer :-

« Because it doesn’t take away freedom

4) Read the following passage carefully and answer the question that follows:

Most of the conflicts in life arise from the belief that one is always right, and this strong belief is
rooted in opinions which may not always be true. What is the value of an opinion? From
Sanskrit comes a saying that one should never accept or reject an idea merely because it is
ancient or traditional nor accept or reject something merely because it is new. One should think
for oneself. Is your opinion (of something or someone) a position of yours or that of an
influential and powerful personality? Does your opinion define you? Most discussions will have
someone saying “Well this is my opinion and I am entitled to it.” Yes, indeed one is entitled, but
what is worth remembering is that an opinion is not always a fact. Nor should your rights and
opinions impinge on someone else’s freedom. From diets to politics, from religion to money
matters and ways of raising children, there are as many opinions as there are people.

Why does the writer say that opinion is not a fact?
1. To show that anyone can have opinion

2. To show that opinion is a fact

3. To show that opinion is to be based on a fact

4. To show that opinion is not necessarily based on a fact

Correct Answer :-

« To show that opinion is not necessarily based on a fact

5) Read the following passage carefully and answer the question that follows:

Ever wondered what it would be like to have lessons in school learnt through a song or
memorised through an easy trick? In a world that has started depending on technology to
remind what tasks are to be done and having machines complete the chore for them, the
concept of remembering is slowly fading away. Ricardo Liuew talks about how memory has an
upper hand in being efficient and achieving success. He makes the audience do a small task by
which he helps them analyse their memory power. He later explains how he inculcated his
interest in studying and started finding new methods to make the boring subjects more
enjoyable and easier to remember. He hopes that educational institutions adopt thought-
provoking and engaging methods of teaching instead of the usual book to brain method. As a
stepping stone, he encourages the audience to start inculcating different patterns of learning in
their study material.



What is the passage about?

1. How to organise learning methods?
2. How to enhance thinking skills?

3. How to boost your memory power?

4. How to improve your learning skills?

Correct Answer :-

« How to boost your memory power?

6) Read the following passage carefully and answer the questions that follow:

Ever wondered what it would be like to have lessons in school learnt through a song or
memorised through an easy trick? In a world that has started depending on technology to
remind what tasks are to be done and having machines complete the chore for them, the
concept of remembering is slowly fading away. Ricardo Liuew talks about how memory has an
upper hand in being efficient and achieving success. He makes the audience do a small task by
which he helps them analyse their memory power. He later explains how he inculcated his
interest in studying and started finding new methods to make the boring subjects more
enjoyable and easier to remember. He hopes that educational institutions adopt thought-
provoking and engaging methods of teaching instead of the usual book to brain method. As a
stepping stone, he encourages the audience to start inculcating different patterns of learning in
their study material.

According to the writer, why is the memory power weakening?

1. Because of distractions

2. Because of dependence on machines for memory
3. Because of traditional ways of learning

4. Because of rote learning

Correct Answer :-

« Because of dependence on machines for memory

7) Read the following passage carefully and answer the questions that follow:

Ever wondered what it would be like to have lessons in school learnt through a song or
memorised through an easy trick? In a world that has started depending on technology to



remind what tasks are to be done and having machines complete the chore for them, the
concept of remembering is slowly fading away. Ricardo Liuew talks about how memory has an
upper hand in being efficient and achieving success. He makes the audience do a small task by
which he helps them analyse their memory power. He later explains how he inculcated his
interest in studying and started finding new methods to make the boring subjects more
enjoyable and easier to remember. He hopes that educational institutions adopt thought-
provoking and engaging methods of teaching instead of the usual book to brain method. As a
stepping stone, he encourages the audience to start inculcating different patterns of learning in
their study material.

How can learning be made enjoyable according to Ricardo Liuew?
1. Adopting time-tested traditional methods of teaching

2. Adopting teacher-oriented methods of teaching

3. Adopting thought-provoking and engaging methods of teaching

4. Adopting interesting methods of teaching

Correct Answer :-

« Adopting thought-provoking and engaging methods of teaching

8) Read the following passage carefully and answer the questions that follow:

Ever wondered what it would be like to have lessons in school learnt through a song or
memorised through an easy trick? In a world that has started depending on technology to
remind what tasks are to be done and having machines complete the chore for them, the
concept of remembering is slowly fading away. Ricardo Liuew talks about how memory has an
upper hand in being efficient and achieving success. He makes the audience do a small task by
which he helps them analyse their memory power. He later explains how he inculcated his
interest in studying and started finding new methods to make the boring subjects more
enjoyable and easier to remember. He hopes that educational institutions adopt thought-
provoking and engaging methods of teaching instead of the usual book to brain method. As a
stepping stone, he encourages the audience to start inculcating different patterns of learning in
their study material.

What is responsible for efficiency and success?
1. Memory

2. Ingenuity

3. Proper plan

4. Thinking differently



Correct Answer :-

« Memory

9) Read the sentence carefully and choose the option that has an error in it:

The passenger only had a five-rupee note with him when he boarded the bus.

1. a five-rupee note

2. he boarded the bus.

3. The passenger only had
4. with him when

Correct Answer :-

« The passenger only had

10) Rewrite the following changing the active sentence to passive.

They will have completed the project before the deadline.

1. The project will be completed before the deadline.

2. The project will have been completed before the deadline.
3. The project will have completed before the deadline.

4, The project will complete before the deadline.

Correct Answer :-

« The project will have been completed before the deadline.

11) Fill in the blank with the correct option in the given sentence:

We should never indulge in wrong doings for the mere happi-- of ourselves.

1. --ment
2. --ly
3. --ship

4. --ness



Correct Answer :-

e --Ness

12) Fill in the blank with the correct option in the given sentence:

His father was so fed up with him that he --owned him completely.

1. un-
2. dis-
3. co-
4. mis-

Correct Answer :-

o dis-

13) Which of the following options best combines the two given sentences?

We are given holidays. We went on a tour.

1. We went on a tour when we were given holidays.

2. While we are given holidays we have gone on a tour.
3. The tour was planned during the holidays.

4. After we are given holidays we went on a tour.

Correct Answer :-

« We went on a tour when we were given holidays.

14) Choose the right tag:

)

Everyone congratulated her,
1. did they

2. didn't he

3.didn't they

4. do they



Correct Answer :-

. didn't they

15) Choose the option that substitutes the given phrase appropriately.

That which cannot be erased
1. Ineligible

2. Indelible

3. Eligible

4. Inedible

Correct Answer :-

« Indelible

16) Choose the most suitable pronouns for the given sentence:

The cat bit ____ tail and hurt .
1. her ... itself
2. my ... itself
3.1ts ... itself

4, 1t’s ... her

Correct Answer :-

o its ... itself

17) Choose the appropriate prepositions for the given sentence:

They live a small flat the fourth floor.
1. under... at
2. with... into

3.in..on



4, on... in

Correct Answer :-

18) Choose the appropriate indirect speech for the given sentence.

“l eat a lot of fruits since my childhood, it keeps me healthy and well nourished,” said Bheem.

1. Bheem had told that he had been eating a lot of fruits since his childhood and it would be
keeping him healthy and well nourished.

2. Bheem says that he eats a lot of fruits since his childhood and it keep his health well
nourished.

3. Bheem said that he used to eat a lot of fruits since his childhood and that it kept him healthy
and well nourished.

4. Bheem said that he ate lot of fruits since his childhood and it will keep him healthy and well
nourished.

Correct Answer :-

« Bheem said that he used to eat a lot of fruits since his childhood and that it kept him healthy
and well nourished.

19) Choose the appropriate antonym for the highlighted word in the given sentence.

The Navajos are among the indigenous people of North America.

1. native
2. foreign
3. belonging

4. aboriginal

Correct Answer :-

» foreign

20) Choose the appropriate synonym for the highlighted word in the given sentence.

The stray dog was picked up by the dog catcher because it had no dog collar.



1. unkempt
2. friendly
3. dirty

4. homeless

Correct Answer :-

+ homeless

21) Choose the appropriate conjunction for the given sentence.

We can go by bus ____ we can walk.

1. but
2. and
3.or

4. s0

Correct Answer :-

22) Choose the appropriate option that rewrites the given sentence in its passive voice.

They found him guilty of murder.

1. He is finding himself guilty of murder.
2. He is found guilty of murder by them.
3. They are finding him guilty of murder.

4. He was found guilty of murder by them.

Correct Answer :-

« He was found guilty of murder by them.

23) Choose the appropriate tenses to fill in the blanks in the given sentence.

My friend to take me to a movie last evening, but I it earlier.



1. had wanted... saw
2. wanted... saw

3. wanted... had seen
4, wants.. saw

Correct Answer :-

« wanted... had seen

24) Choose the appropriate tense to fill in the blank in the given sentence:

By next august, we in this city for two years.

1. will have lived
2. will be living
3. have lived

4, lived

Correct Answer :-

« will have lived

25) Choose appropriate article for the given sentence:

The UEFA Cup is European football tournament.

1. a

2. an
3. the

4. an or the

Correct Answer :-

26) Choose appropriate articles for the given sentence:

donkey is beast of burden.

1. no article required...the



2.A..an
3. A... no article required

4, The...a

Correct Answer :-

e The...a

27) Choose an appropriate determiner for the given sentence:

I don’t have money to spend happily in the tour.
1. few

2. many

3. lot

4, little

Correct Answer :-

o little

28) Choose an appropriate modal for the given sentence:

You practice more to be an ace player.

1. would
2. may
3. need to

4. shouldn’t

Correct Answer :-

« need to

29) Choose the option that best explains the highlighted expression:

Tell me about the party; I'm all ears.

1. frustrated

2. each part of the body feels like ears



3. worried

4, eager

Correct Answer :-

30) Choose the right tag:

They already started theirclass, _  ?
1. could they

2. don’t they

3. will they?

4. shall they

Correct Answer :-

« don’t they

Topic:- General Hindi(L2GH)

1) 3 TR 3 gAR, dHF i § Jad AR |
fRufft-gpe AAlER YR, S & YHIT JAY |1 & & YR 377 11311
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a1 8 | STt e Reart >0 ¥ faehs @ ot @ | Sumar 3 @t e weiifas geass i AR gE R
FUTYE DI ATABYT ' ITATH B BT HA & SRIS-Iad Tl 3, Afp oieg & T HuT Io-ifasw
gf¥dzr & quIfed 81 9l 8 | +fa 9107 SY 3Ry § ueh SRTeIHIfae aufdt U1, 98 forg SExa &1 T argdn
8, 98 ISP ¢ | 3UIT 7 Fad 98 W e § S oral 8, afew frwona +f g sirar @ 1 98 few
§< aP WS W I GHT YT, DT Ul TP 39 HYUT I gl g, JoHId Pt Hiea Yot 3 g3 S0
forar 8, A_1 ST SYa B 1"

ITYe TR B Ugh? - YD T Y BT 30 Td183:
U - ATHS YT’ T 3T FqT FHSd &2

1. @Y T SitaeT &hr amar

2. ARG

3. 31TcAT I 31T

4. 39a1 SfideT I AT

Correct Answer :-

o 39 Siaed &I T

21) &) AT & QUIHE F THPBYUT B ASHIaP ITUN & U A U Pt IRART 81 61 &,
AP Ug TP Yaa: AeHIfae ST 8 | STUN # gHdg-eTee HRd B T9d 3R pfed weHia
SOt Faft fawanait & W1y 79 g3 8 | U AT 3R SHai® Ie-iae saawiT SURT @1 dig
a1 2 | STt e Rmart =30 § faehs 8 ot @ | Sumar 9 @t e weifas geanss i AR gE R
SIUTHE P ATHBAT' ST B YT YA g1 SRTSIfa® el 8, AfhT Sieg & T w1 Io-ifas
gfeawr & wTfRd 8 Tt @ | Bfd 9107 Y 3R ® Uw SRS afdT U, a8 R SExa &) urET = ngdn
8, 98 ToHIfa® € | 39T 9 $ad 98 WU IS A S o1ar 8, afew Ao W g s g | a8 i
§< aP WS A ST GHT YT, DT Ul 3P 39 HYUT I gl g, JISHid Pt Hiea Yot 3 g3 S
forn 8, B gueT SrEva | 1"

IUYe TR B Ugh? - YD T Uy BT 30 Td183:

U - FIUTYE P ATHD YT IUATH B Y31 fhd UPR Ft 82
1. SFTFATTSS

2. 3RTSTehcTquT

eACICTSIIEED

4. 3NTST=AITcIe

Correct Answer :-

22) & SMeaT § FIUIHE Y SIS YT ') IS ITATH F U § Uga Pt IRART T8 W 8,
AP 98 TP Yaa: AeH-IaP ITAN § | ST | gHagAPIe HIRd 3t 99d iR pfea werifa
-t |t fa=wanail & w1y 19 g3 3 | U AT 3R FHai® Ie-iad sgawil SUIR @1 dig
a1 2 | STt e Tt =301 ¥ faehs 8t ot @ | Sumr 3t @t e weifas geanssai AR gS R



FIUTYE BT ATHABYT ' ITITH Bt IFHTT U § SRTITAD Tl 3, AfpT oeg & T HUT Ieias
ufedzr & quIfed 81 9l 8 | Hfd 9197 S SR § Ueh SRTeHIfa® aufe uT, 98 forg SExa &1 U aredn
8, 98 Ao ¢ | ST 9 $ad a8 WY IeHifa & Iagt Srar 8, afew fHrwoma o g sirar @ 1 98 forw
BG d% TSI § IS YT UT, SHST UdT SHSP 59 HUT A TadT 8, eI Pt pfed Yoiift A g3 9
foran 8, AR =T U § 1"

ST TR DI UgHR -1 TS TT UY BT IR Ia133:
U - "URaRr ST yaiaard! a1 a8l 82

1. GERET

2. ATdTaRoT

3. HATglel
4, g

Correct Answer :-

o TTaREr

23) & ST & SIUTYE F STHB YT I-fad START F 7Y & Ugd B IRERT 81 381 B,
AP T8 TP Yaa: IAe-ifae ST B | STUN § gHdg-aTee HRd & T9d 3R pfed weHifa
SOt aft faiwansit & A1y e g3 8 | TP WA 3R SHdif® Ieiae el SURIR 3t dsig
R 8 | Tt T9 Reard gt # faehis g it € | S Y O Syt Ieifae gensm i A Rt g # |
FIUTHE B STABUT ' SUART DI YT YA & SRIGHITAD el 8, Afp=T e & T HuT Ie-ifas
qf¥a=r § JHIfRd Y STl @ | i 9107 S 3R # U SRTSHITA® Ul U, a8 R/ SERT &) urET argdn
2, 98 Toifa® g | 3T 9 had a8 ¥ad IeHifa o S orar 8, afew fAreoma oft 8Y sirar 2 1 9 few
8¢ aP - A ITH IHT AT, DT UdT S 39 HU A IaAdl 3, oIt &) pfea Yot A gt &9
fRraT 8, AR I SEva B 1"

ST TR B UgHR 1Y ID T Y BT IR ga133:
S - pfed &1 faay e 71 82

1. ShIefT

2. G

3. 83l

4. g5

Correct Answer :-

24) & AT & 9IUTYE F THBYT 'S I-fad START F 7Y | Ugd B IRERT 181 381 B,
AP T8 TP Yaa: Ie-Ifaed ST § | STUN § gHda-TaTa HRd & T9d 3R Hfed TeHifa
o=t |t fa=wanaii & 1Y ored g3 8 | U "M 3R St Ieiae saawil SUaR &t htd
far 8 | Tt T9 Rt 5t | faelis 8t 9t € | U= @Y O T eHifae e W A R g § |
FIOTHE BT THBYT ' IUATH Pt JYHHTT WA g1 SRISHIfAD Al 3, AfdsT wTeg &1 T T oo
gf¥a=r & JTfRd 8 STt @ | Hfa 9107 S 3R # Ue SRS aufdy U, a8 R SExa &) urEr argdn
2, 98 USifa® g | 3T 9 had 98 ¥ad IeHita W S 9T 8, afew fAroona oft 8 sirar 2 1 98 few



§< aP WS A I GHT YT, DT Udl TP 39 HY I gadl 8, JISHid Pt Hiea Yot 3 g3 S
fRraT 8, W1 T SRGYT @ I

ITYe TR D) Ugh? - YD T Y HT 30 Td153:
UL - ‘SIUIHE B} TASYUT {5 faem &t v==r 82
1. FAGTRIT
2. 39T
3. JTcHSHAT

4. #llceh

Correct Answer :-

25) ) AT & QUIHE B STHAPBYUT B ASHITAP ITUN & 7Y A U Pt IRART 781 61 &,
AP U8 TP Yaa: IAeHIfae ST 8 | STUN # gdg-eTee HRd & T9d 3R pfed weHifa
-t |t fawanail & W1y 79 g3 8 | U U 3R FHai® Ie-iae sgawiT SUaR @ diig
a1 2 | STt 9 ATt =30t § faehs 8 ot @ | Sumar 3 @t e weifas geanss i AR gE R
SIUIHE B ATHB YT ' ST P AT YA T SRISHIAD el 3, Afh STeg 81 T8 ST Ioifasd
gfeawr o wTfRd 8 Tt @ | Hfd 9107 S 3R ® Uw SRISHIa® afd U, a8 R SExa &) urEn angdn
8, 98 Ao ¢ | SHRIY 7 $ad ag WY Ie-ifd & 3agt 91T 8, afew o ot Y s @ | 98 forw
§¢ aP NI A ITH BT AT, SADT UdT U 39 HU A IAdl 3, oIt Bl Plea Yot A ggt €9
foran 8, ART AT YT © 1"

ITYe TR B Ugh? 1 D T Y BT 30 Td133:
U - S q07 RY H 5 PR ST afa 4
1. FeATaTgr

2. gUTIargy

3. TSTeilideh

4, XTSI

Correct Answer :-

26) &S SMATT § FIUIHE &Y STETHYUT ') ASTd ITATH F U § Ug Pt IRART T8 W 8,
AP 98 TP Yaa: Ae-aP IUURI § | SUART B gHagAPIe HIRd 3t 99d iR pfea werifa
o=t |t fa=wanail & w1y 19 g3 3 | U AT 3R SHai® Ie-iae saawT SUIR @ B
a1 2 | STt 9 ATt S35t A o= g ot /| Sum 3t @t e weiifas geanssai IR gS R
FAIUTHE B TP YT SUART B BT YA B SRTSHIAD el 8, AfpT Sieg & T w1 Ier-ifas
uf¥dzr & guIfed 81 9l 8 | Hfa 9107 Y SR § Ue SRTeHIfae sufe U1, 98 forg SExa &1 T argdn
8, 98 Ao ¢ | ST 1 $ad 9g W4 Ie-iTd & 3agt 91T 8, afew freomma ot g st @ | 98 forw
§< d YSHITG A I BT YT, SHDT Udl TP 59 HY I Iadl 8, IeHIG Pt pied Yot A 43 9
R 8, R I SEva B 1"

ITE T Bl UgH 1 U T UY BT 3T qd183:



U - Hfq qT07 frad Iagr o g ?
1. HIg AT

2. O]

3. ST

4. TSfeitfe

Correct Answer :-

27) & ST & 9I0TYE F STHB YT B IA-Ifad START F 7Y | Ug B IRERT T8I 31 B,
AP T8 TP gaa: IAe-Ifas ST § | STUN § gHda-TaTa HRd & T9d 3R Hfed TeHifa
SOt eft faiwaneii & A1y e g3 8 | TP UMAIg 3R SHdifA® Ae-ia® el SUAR $t Ssid
a1 8 | 919t e Reart >0 § faels 8 ot @ | Sumar @Y @t e weifas geansr i AR gE R
FUTYE B ATHABYT ' ITATH B I3 HA & SRISIad Tl 3, AP vieg € T8 HuT oo
gf¥awr & JTfRd 8 rdt @ | Hfa 9107 S 3R ® Uw SRS aufdT U, a8 R SExa &) urEr aredn
8, 98 Ao ¢ | SHRIY 1 $ad a8 Wy eIt & Iagt SraT 8, afew o ot g sirar @ | 98 foew
§< aP YSHITA W I GHT YT, DT Ul TP 39 HYUT I gl g, JeHia Pt pied Yot 3 g3 $9
forar 8, AT ST SRIHT © 1T

ST TR BT UgHR A1 ID T UY BT IR 9a133:

U= - 3 9107 oy I & U1 1841 8, 98 P9 &1 UPR 82
1. AlAAT

2. NhdilAeh

3. TSTeilideh

4. AR

Correct Answer :-

28) &} AT & QIUIHE F STHPYUT B! ASHIaP ITUN & U H U Pt IRART 781 61 8,
AP U8 TP Yaa: IAeHIfae ST 8 | STUN # gHdg-eTe- HRd B T9d 3R pfed IeHia
-t Faft fawanait & W1y o7ed g3 8 | U AT 3R FHaii® Ie-iae sgawiT SUaR @1 dig
a1 8 | STt e Tt s=:0 F faehs @ ot @ | Sumr 9 @t e weifas geanss i AR gE R
SIUTHE P ATHBAT' ST B YT YA g1 SRTSIAD Tt 8, AfhT Sieg § T BT Io-ifas
gfea=r & wTfRd 8 Tt @ | Hfd 9107 S 3R ® Uw SRS afdT U, a8 R SERa &) urET =rgdn
8, 98 Ao & | SHRIY 1 $ad 9g W4 Ie-ifa & Sag1 91T 8, afew frwomma ot gY sirar @ | 98 frw
§< aP WS A I BT YT, DT Udl TP 39 HYUT I gl g, JISHId Pt Hiea Yot 3 g3 S
fRrar 8, W1 I= SRGYT @ 1

IUYE TR B TP - U T Uy FT IR gd153:
U= - Hfd I10T ) T\ a1 ¢ b ITPT TI1 U & ?
1. 30 gHEAT & TS g



2. 30 ST H FR—IT IR g
3. Totelifae faw & SRoT|
4. 38«7 IRy fohar g

Correct Answer :-

o Toldlde [AY & HROT|

29) &S} SMelaT § FIUIHE Y SIS YT ') ASTd ITATH F U § Uga Pt IRART T8 W 8,
AP 98 TP Yaa: AP IUUR @ | ST | gHagAPIe HIRd 3t 99d iR pfea weifa
-t |t fa=wanail & w1y 19 g3 3 | U AT 3R Saite® Ieiae saawT SUIR $ B
T 2 | STt e fmart =0t ¥ o= g ot @ | Sumr 3t @t e weiifas geanss i IR gS R
FAIUTHE B TP YT SUART DI YBITT HA B SRIGHITAD el 8, Afp=T Sie & T w1 Ier-ifas
uf¥dzr & qIfed 81 9l 8 | Hfa 9107 S SR § Ueh SRTeHIfae sufed o1, 98 forg SExa &1 T aredn
8, 98 ToHIfa® ¢ | 39T 9 $ad 98 WU IS A It o1 8, afew fAooma W gy S g | a8 f
B< dP YSHITA A I BT YT, STPT Udl TP 39 HY I Iddl 8, IeHIG Pt pied Yot A 43 9
R 8, SR I S va B 1"

ST T DI UgHR A1 T TT UY BT IR 9a133:

Y - RTeIfa @1 pfed Yot A g3 S R 37 sa ar B o s af g 2
1. Jg8r

2. TAR

3. o=

4. SATTANT

Correct Answer :-

30) &} el & FUTYE F STAABHYUT B IeHIfad SR F U | Ug B IRERT 81 381 B,
AP T8 TP Yaa: Ie-fae ST § | STUN § gdg-aTee HRd & Tad 3R Hfed weHifa
=t |t fawanaii & w1y 19 g3 3 | U "M 3R SHaite® Ieiae saawT SUIR 3t Bt
a1 2 | STt Te ATt <=t A faelis gt ot € | St 3t Ot U weifae geanssai SR gE R
TAUTYE BT ATHABYT ' IUATH B Y3 HA & SRTSIab Tl 3, AP oieg & T HuT I
gf¥a=r § JHIfRd 8 STl @ | i 9107 S 3R # Ue SRS aufdT U, a8 R/ SExa &) urET argdn
8, 98 ISP ¢ | SHT 7 Pad 98 W IS § S oraT 8, gfew frowona «f Y smar @ 1 98 frw
B¢ aP I A ITH THT AT, DT UdT 3P 39 HU A Iadl 3, oIt &1 pfea Yot A ggt &9
foran 3, AR =T SEUT § 1"

ST TR BT UgHR 17 YD T Y BT IR ga133:

Y — ‘SIUIHE B THBUT SUART B S-S RarFar g 2
1. & 3R = cggEdr

2. TR 3R e cggear

3. AAAT 3R SAaiEe cggeen




4.Qnﬂ?rua"grﬁvaaavm

Correct Answer :-

o AT 3R SFAdiAe cgaTar

Topic:- HINDI (HIN)

1) “fASY 39 MG WA F FEd o OHA TH AT IFR F Aaw FE e 1 ol ar
yfaureet v ey fAsfiuer, Faeoedn, divea it wofiaar aur sraeas wafa s @aquer &
w1y R a3 @ IF w5y« fRad gEn foar 32

1. ST.aARIeR

2. gRAY [T FedeT

3. 9H=IG

4, ST T[CATeRTT

Correct Answer :-

© ST Tellara

2) s ¥ 33 o FEd q@wr AT e §2
1. TANGE ATET

2. FeRATYT THE

3. FAAIGIRATH el

4, R Ja

Correct Answer :-

o THITY ATEAT

3) ®ETEd 9T & ‘A A AT A ruer AR a@ g #7
1. 9ot fafy

2. 99 HE&AT

3. TSl T&AT

4. @rdr g&dm

Correct Answer :-



4) freror geraF WA, feror srfterr aftear &t -
1. 39U HT|

2. hael AT HLl g

3. %had IRT F B

4, Fad gefad v gl

Correct Answer :-

« 3UUFT FI

5) deat & 3T9TF ded B © -
1. SHeYaTRiTerar

2. 31 ggoT

3. 419 U9 faOR

4, TR TG el

Correct Answer :-

« #19 U9 9O

6) 3 ¥ FiaT Heg AFUsR & ¥ A gy &7
1. facafaara @

2. Fogdrelrel fAs

3. gRYAT S

4, HIGAATS AT

Correct Answer :-

o GREAT TEAG

7) zad ¥ Fla-ar Agy F 1 yH@R AE 82
1. AATIPR Faell foreer

2. Hicdardr e

3. Aifglcas foeer

4. dfera e

Correct Answer :-



8) g1H § FIF-AT FErAl Qo R F aEh gam?
1. 3TehgTell

2. 53 glell

3. TS gl

4, STTTET Shgledl

Correct Answer :-

9) ‘@d &Y FFE T (3T A DS B2
1. afRa#Y e

2. TSTEATAT

3. UgTsr

4. qdf f&dr

Correct Answer :-

o qfREHAT f&er

10) ‘srgafer fFEhT FEel &7
1. i

2. Foe] ST

3. gedia

4. TRAA AT

Correct Answer :-

11) fBrer-Biet s qees(fal § Fraey @A F FROr qodl & weal v ITAROr # -
1. FIOTAT 91§ AT B

2. GATAAT g &

3. ¥ gielr gl

4, fafatrar aig ST g



Correct Answer :-
. ffaerar g s g
12) @ 1954 H yIfAd ‘Fdft HRAar 9 & dues & -
1. 3T. AAETEY TJACT 3R 1. STETErer e
2. 31. ATAR e
3. THYRT TeeTa
4. STITERAT TJACT

Correct Answer :-

o 3T THEAET Tgaar AR 31 S e

13) Afqwele w3 e fFaF 3R s a2
1. FERTST SITHg

2. AGRIST ST

3. 7L FG2AE
4. sIqfa fAATe AgRIST

Correct Answer :-

« HERIST SIATEE

14) fAAUT & YR 9T AN & HT F & &7 §2
1. TS, 37RelTel HTST

2. TSy, TSTHTST

3. QeeT, IR AT

4. fAfAa s, HfATAT s

Correct Answer :-

. AT s, wfARET o

15) UrgAgEad WEHS el & -

1. WA FqHY

2. hddl IIGTHHA HI cTARUd A & oIl H



3. had AT & 9 IR 3cdeed Fad H
4. hddl TI-3EIIT H

Correct Answer :-

o 3WIad T

16) afaal ® gt & Rfwey T 991 F TURE Ta= FA F Faa & -
1. @ fafer
2. gqur fafy
3. grae Ol
4. 9o fafer

Correct Answer :-

. o fafer

17) 99 A@« # '(EOR FEU F FAT aw9d 37
1A ¥ 97 foger

2. 99 & fafy fogen

3. WA T AT IGAT

4. qafaf@a oot & d@er

Correct Answer :-

18) gl 1 #1941 AW F Feaed H et F1 3T a1 ¢ -
1. ¥r@e @ gfehar @ e &

2. 94l & HTAATTHR! &l JHeol el

3. eal A gh 3 & faT

4, AT T YT HIH fAeheldsy & AT

Correct Answer :-

. W@ 1 gfhar & Ear &=

19) wofleay a1y Y] FFH YHR & FEEIFR AW 1A 87



1. FATAATTAeh
2. 3rafeaes

3. UAfesh

4. UfqgTiaes

Correct Answer :-

20) YiAaEEe 99 Fa ‘AFEaT diF Ageed Fu eRe Aeey & faw w mufa
§?

1. HAGTCAT el
2.graq11sr£iaa’m

3. TR Toolds Ucd
4. gle 99T &g

Correct Answer :-
. FETEHT TR

21) eadefid 99 FT 3IGNT -

1. FEATEAT 97 gdgR & fow gar gl

2. %had dafFdes 937 & T R S a@har g

3.3% & MR 99 ¥agR & v gar g1

4, 3TARTSET UF cgagR & TolT 8T &l

Correct Answer :-
. 3 & MR 97 FaER & fav gar gl

22) R F1 ya@er s N B gfPaFa & B §-

1. AiT&H

2. Hichfds

3. forf@d

4, A

Correct Answer :-

. fof@a



23) foret et A Qfcraret A e T FE oA eyl A1 T F HTAR Freq To H
8, 37¢ FIT FgN AT 87

1. gfafdey =i
2. {fdecy &id
3. HFd &id

4. dfaxsFd »fa
Correct Answer :-
. dfafdqy =fa
24) srar feror & AT F9 3R F4 FH gqufa F1 @R A= TIRT, sHH TSR B | -
1. [Rreter &

2. fqearerm =i
3. BTE HY

4, ATAT-FATT I

Correct Answer :-

. frerd Fr

25) yfeafda lerer & anfdver ¥ -
1. hddl Srelel

2. hadl fa@er

3. Golell

4. Srerelr 3 forger =t

Correct Answer :-

o St 3R forger gEr

26) FIHERY TAT A TAAT R FET AT {2
1. fafx

2. garere

3. GEAIER

4. oM



Correct Answer :-

. f¥EH

27) §&IY T A I9F & FEAIER FET gl gIfgu?
1. 99 & 3id # g 3R

2.99 & 3d H 18 3R

399 & fif

4,99 & HRH # grft 3R

Correct Answer :-

o 99 & 3d H ¥ IR

28) AfFaay A 6w F@ F @y F1 A= i Fer 917
1. STEE

2. FATTSIA

3. Jerdierd

4. e

Correct Answer :-

29) faes & @ fFw FEEY F1 I3Y IH9IG AT BT 82
1. $U I Hawh|

2. STeil hial o gla|

3.F H & 3T I ST

4, 1l 37eT N |

Correct Answer :-

o HIoT e HF TS|

30) faest ¥ & 9reT e BRAC § -
1. S el

2. hdel dIe-fadrg

3. %hddl EHE



4. shdol 3edreiy

Correct Answer :-

o 3WUFd T

31) et # & T F Ag &F IUR W a7 FT PlI-a1 Ag 781 87
1. Ty ey

2. Y& qTah T

3. W arg

4. GgFd a1y

Correct Answer :-

32) farT # @ 59 AR & 99 & ‘a1 & o smar §?
1. Qi@ a7

2. 3gRes 97

3. AR 9T

4. 3gfFds I

Correct Answer :-
o 3gaie 93

33) farT # ¥ Fia- Rrdwar v 7 gt ¥
1. TRl &l A UG gidr 7l

2. Tehieh! AT TEqUT gl €

3. Uil H UH & 9 BT gl

4, UHIHT H TH & 3 gam gl

Correct Answer :-

. T H TH &I 3 giar &l

34) farafafla 9fFaal & #iq @1 50¢ & -
aferreat aRuTeERT 9 W e ¥ |



F 9% o7 AFE,AGT A ¥ |

AT YT yaTE, T AR AvSH § |

&4 ARy R, 9y v R

o T w2ig ¥ afoerd sw aer
& AR F T A, wIor Afet whr Fl
1. 5% ©eq

2. BOUT B,

3. OeTeTY B

4, i Bog,

Correct Answer :-

35) faeer  aal v s waelt qRaAt @ ¢ -
1. 9TGT-aE] T TG Al H

2. YSEITIROT Tl
3. el FaE

4. ATFY-EITT el
Correct Answer :-

o UTST-IE FT TGUT Fed H

<

36) fell 1 AT FoAaT qUT 3/ FAR THF oA AT AT ¥ -
1. Gl
2. 44U
3. &

4. HATYOT

Correct Answer :-

37) farafaf@a & @ #l a1 su=aw ofisw g @ adt ¥
1. FeT 3T

2. 3R



3.9\ Y

4. Sl

Correct Answer :-

o FHar rae

38) = HIWT Hi@sr AT &THGT & A1 Yo7 g §1 I Fua e A & fraar @8-
1. 9rdeilg

2. TS

3. TIFEH

4, ASINERT

Correct Answer :-

39) gaa &1 afafafer afe daw ik sweh gl ar -
1. g AYTEr gl

2. I 3T G TG § HLT|

3. e 3 €T higd glh Foldl|

4. ST FHel H AT |

Correct Answer :-

o T 3T €I Hicd gl Goidl|

40) frw wgrred & AT Wl A Raw # @ 1972 §. & ARAT A [EFR
vereT fRar T g2

1. 3z

2. g

3. AT
4. FTEIT

Correct Answer :-

o 3aghr



;ﬁ@g‘émaﬁmmﬁ?waﬁmwmﬁmaﬁmaﬁmﬁ,w

1. 9T T Tacerd

2. fRreTor At A fAewia
3. 39 1 fAerd

4. @gad & ewuid

Correct Answer :-

42) it Hfaar A Faew ydid T H JIAT AT §, 597 A 98 hAHT Il 82
1. 31 & TaHeIT &1

2. EFT 3cdIg, Siideireniall 3 37eT9Tedr ol

3. AoleTd fagig &

4. Gohfd 9H AT

Correct Answer :-

o 3EFY 3cATE, SaaATheT 3R IeTTedr &

43) t%F e v Awe 1 RRvanst F e & @ e Reg A a& Jen s 87
1. 9IS ggeiel

2. T ATl

3.99 oi@el & 39N @ FAGY

4. faaRt i gEasedr

Correct Answer :-

o UIUScT WedleT

44) T@Tﬁr%mwﬁ 14 3R 12 ¥ 97¢ R (AR 3R 26 Ao A ¥ U BT B
P o -

1. fearmarer &e¢
2. MiTT Toc

3. ol Tog
4. 18T B<



Correct Answer :-
« i Bog

45) ‘AR dad: YFfa & @i shaa &1 30y §, 38 Ao g waieHag 8l
39dFT FYA fFAF GFRT FeT IRAT 87

1. HIFAELOT FTHT

2. STIA JHIG

3. qHYY T8E feeTent

4, FgICAr AT

Correct Answer :-

. HeEredr gAT

46) frafaf@a 9fFaal & sl a1 IeFR 7

gfer amsa efeafam el

3w Ffg 7 fagd v 3welh

1. ST&TOT QMg QAT

2. ST QAsq, AT

3. JifEr ersq Afdd

4. giqer ereg AfeFd

Correct Answer :-

. ST UG ATFA

47) Arafaf@a 9Faat & a9 @1 oeg 2

@R, AR TAT G F g A @ §1 F AN §, e o1 ¢ AR awar i A
A, IS I AT HT FAT AT 31 gRN? N AT W w1 v & asar g
1. HGTHledl B

2. AU Bog

3. RERol &g

Correct Answer :-



48) 5y F1cT A & I H Fer AT T -

Ig Th YR FT qUldcA® Fa¢ g1 SHH Vud Freang St & Fedft safFa &1, @y w0 § fFh
dR AT ALYIY FT GARA & AR Sitaer aRa far sar 2

1. aRd &g
2. AGTRIT
3. qRIOT

4, 3TEATT

Correct Answer :-

« IRT g

49) e fasweq Fam-

o o1 & gea & AT sewew @ 39 o7 FEd E
1. IEF T[0T

2. 3T T[T

3. 9dIe I[oT

4. FH I

Correct Answer :-

50) ¥ fAseq T -

U Hdd Beg fhEl RAER-gT a1 o719 4T § SqaRYd WA ol 36 @ # 619 A1 AR #7
R Faw: REard &ar §, g6 i Aeguar & 8

1. Y& e
2. e ey
3. AT H1ey

4, ST FIeg

Correct Answer :-

. Y Feg



51) ¥& faweq qazw -

T S ¥ R ol wd A erast FE a W@ FgaT W B
1. A W

2. TSCHTST

3. Fifgicgeh 1T

4. TSTATIT

Correct Answer :-

52) frafaf@a dfFaal & la-ar seer 82

daf-are HAT-E TH W AT g8 g8 RN S @ |9 7|
1. TaTemss 3reieh

2. HIAATA el

3. 6 3HolehY

4. 3AT TR

Correct Answer :-

o TORIETHY 3TePR

1. fa9R aca
2. {19 dcd
3.3 dca

4. e dcd

Correct Answer :-

. fdOR dca

54) Wg RAFeq IaEd-

Iy ey ama wurer off g 8, W wifeew it @t feumsdt F Ry gaiftw =T
gl &1

1. Jef&r e A7 fauRidsTe



2. g TYTT AT 3daleh
3. 309t AR HsHF
4. g&g T AT faaridsie

Correct Answer :-

.« 9CfY 9T A1 AaRkSis

9

55) Rt faaeul F #ech, so-afem, Rele-sdew weft Fo gar &1 W& Bawul $ir sma
#r < g1

1. IR

2. g2 aTcr

3. stfaera eyt

4, gerar 3R ¢fae cgagr

Correct Answer :-

o Fodl 3R &t STagrR

56) 3tX Wigcy & sfagra-ad@s & FeT-wil F HAIT F HAE 99T ¢ F& AW F AAGTIR
mmmmmmmﬁmﬁmﬁmmwmm%u
IAHT FgAT ¢ O FifecT &1 sfae Ffeca-wat &1 sfae ¥ 3=s gt & g7 wd ¥ w Remst
F1 994 3R aRade v RAfdse W dgst & a1 1 s FeE™ & a5 aiRca-wT g
91 ¥l MY 39 Fgarm F Fo Wagr@s FRor g 5 FRoi At @ F I F @R #
wATS-HqFd sfagra @@ gl

RT3 ' TeR AT QU v wea #1 3car faf@w:

eI F (AR faunst &1 aww Ak oRada w4 g §7

1. IRaEdATATT F

2. FrI-wAT H

3. GATS Y sicerd &

4. fafarse Ufae@e aRfEafaar &
Correct Answer :-

. faferse Wfqefas aRfeufaar &

57) R Wity & sfagrw-od@a & Fa-wl F HCIIT FT HAE FGT ¢ Fo AN F
mmmmsﬁmmﬂﬂ%ﬁ-w*ﬂﬁﬁﬂm#mmwm
gYaT ¥1 A% Fea ¥ B TRew #1 shew WRe-wat #T sherw ¥ 3w gt F uw @l
Tl X Rumst #7199+ 3t 9Rads e RAfdse MaefRs @t & ar ¥ v FeE® F 9



AT T I §1 BT 30 qgad & Fo Wags FROT N 57 Froit A @ F
33T H W FT FATT-HYFd sfagrd 7&r ghml

IRTBE F TeHT Al QT 1T N &1 3cax fAf@w:

e FROT A T F 39T A TR FT FAS-TIFT AT G @ FHAT?
1. 3fae @t

2. 3T & 3G

3. HIT-FUT & HEIAT

4. TIfgca-wai & Jamar & HRON

Correct Answer :-

o TIfgcT-®4T & deordl & FHRON

58) 3t Wity ¥ sfagrw-dwsr # Freg-wdl & ILAAT F HAE q9T 5l Fo Al F
mmmmgﬁmmmﬁw-waﬁm%mmwm
m%lmm%%mﬁmsﬁmmﬁw-WWm%lmwﬁww
21 9T Rt F1 "99a 3 oRadeT e Afse MWATRAF west F @ar § v FEE® F 9K
HFT-FT T A1 §1 BT 30 qgad & Fo WMags FROT gN 37 FRo A @ &
yrerra H wifeew &1 wATS-wgFd sfaer et gl

IR=AE FI TeH AT QU 71T ged 1 3cav f@w:
wEdd wegrer 1 3R ofdF g whar 82

1. GATST-HYFd ATigcAfsre

2. %reg 3R sfaga

3. Fifged 3R o@e

4. [umera aRade

Correct Answer :-

59) 3t} Wiftew & sfagra-d@s # Fea-wdl & HEAAT FT T o1 g1 TS el &
ﬂmmﬁwwmmmvﬁ—m@ﬁmﬂm#mwwm
fIeT &1 IeTT FEe ¥ B AT BT SRAEE WiReT-wal F1 shaer ¥ I et F ww W@
Tl T Rumst #7199+ 3k oRads e RAfdse MaefRs d@at & ar ¥ v FeE® F 9
AIRT-FT 9Gd AT g1 IR 39 dgod & Fo WAgf@s FROT gl 37 FRol A @ &
3ATT H WIEeT FT WHATST-HYFd sfagra 71 grem|

IR=dq F TgH AT U T g FT 3cax fAf@w:
AI & FJUR fFy sgara & ot Waerf@+ Fror ghre
1. faemsi



2. sfagr of@eT
3. AIEcT-®AT
4. ¥fagAs T

Correct Answer :-

60) 3t Wigcy F sfgm-dEad H FT-T F IIAA FT JAE 91 ¢l F& aWl &
mmmmﬁﬁﬁsﬁmmm‘%—m«@rﬁm#mmwm
m%lmm%ﬁ?mﬂwmsﬁmmﬁw-m?msﬁm%lmmﬁﬁww
g1 W Reumsit F1 99 3 RadeT e fAfse MAeRF west A @ ar &1 v FEE™ F 95
AMFeT-FT Feo o g1 BT 30 qgad & Fo WMaerd FROT g 37 FRo A @or &
m#aﬁwammsﬁmaﬁs\m

RT3 FI TeH AT QU 7T ged 1 3ca _Af@w:

AIT F IHTUR AMigcd F sfagra-d@a & frad reqqsr w1 3MIE q9r 87
1. STeY-FGT

2. HRUTT & T

3. Hreg-yeyfadr

4. UfqEri@e dHest

Correct Answer :-



